Cyril Plante

Concerto pour Heckelphone et orchestre, Opus 236

Violoncelles

>p
o

L%

ofe
mp

A DA Al

— mf

} D
P* ]
T

dinp

- P

N
° | e
T

dim.

L 4

CRBKAT K]

mp

mp

L
L

mf p mf

Cyril Plante

p

cresc. _ _f

—

mp

— mf —p

A/

Piu vivace J=100

D
[* | =
T

-

mp

Moderato grazioso J= 70

< (Y = 8
¥ 9 Q| o~ '.H%
> il R
é | | N
] R (IR N
Piml - — ﬁ - m-. oﬂy.ll-
il b s 2 % =
& 5 Ak QL
S il T «
mwn|| ' XX B! =
& mul
.- V&l ‘
A = & 4 -
A : N - Lu-a Y Ql ]
1 p - m )
S il > 79) a ISy
ol & RR N ] % EE o I
VRS .m Q- .
MEE
' s < - M X
L} Szl ¢ ¥ F o )
5 2 e ol
. ° =) . =
4 hung ) = WY Y,
e N m.. £
« R sl & (
L] i -
ol H N M- B NI
LY 17 S LAY . )
o\ . ..:...< TS Q |
Q n.W ¥ | T h
e
- q
Q| [ unnu__ Yl
- = ]
u.u.l p Q LI
E = = E= nﬁ” [ 3
il il il e el
e\ ) . @\ . [@N . e .

1

M L V11
1L

T

¥ CF . P
,

' XF -

) OF o

83
96
104



Concerto pour Heckelphone et orchestre, Opus 236
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